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Section A .
Operations Management

(a) Choose the correct answer: 1x10=10

(i) Which one of the following recent trends in Production/Operations management
involves drastic measures or break through improvements to improve the performance
of a firm?

(A) Corporate Downsizing
(B) Re-Engineering »

(C) Technology

(D)TOQM

(ii) The starting point of Production cycle is
(A)Product design
(B) Production planning
(C) Routing
(D) Market research ¢

‘iii) Which of the following process types is used when a very highly standardized product
is desired in high volumes?
(A)Repetitive Process
(B) Batch Process
(C) Project Process
(D) Continuous Process
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(iv) Which of the following aims at findir

X

(v)

(vi)

(vin)

(viii)

(ix)

(2)

available resources—men, materials, mc
(A)Method Study

(B) Work Study -

(C) Time Study

(D)Motion Study

Generally the size of the order for prodt Ctio
(A)small » 3
(B)large

(C) medium
(D) very large

Which one of the following statements is NOT
(A)LFT is calculated fromrheLFl"ofﬂtwdeﬁ.
(B) Slack can be calculated by adding EFT and LFT of any job. .
(C)EﬂmdwsumofﬂmESTandthemdm”%

Which one of the following is NOT the adv#‘d =
(A)Better product quality TF:' o . -
(B) Greater safety to workers ?a'-‘ AN
(C) Increased breakdowns and downtime «
(D)Fewer large-scale repairs 1
Which one of the following establishes time set
(A)Routing |
(B) Sequencing

(C) Scheduling

(D) Dispatching

(B) Material Reorder
(C) Material Requisi
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(x) With reference to Aggregate Planning, identify which of the following statements is

NOT correct?
(A)Itis an Intermediate-term planning.

(B)It is made operational through a master schedule, that gives the manufacturing
schedule.

(C) Facility planning and scheduling are closely related with the aggregate planning.

(D) It deals with the strategic decisions, such as purchase of facilities, introduction of
new products, processes, etc.

(b) Match Column A with Column B: Ix6=06

Column A Column B

- (A) Any place in a production process where | (i) Assignment
| materials tend to pile up or produced at |

rates of speed less rapid than the | C
previous or subsequent operations |

| (B) It is used when a low volume of high[T (1) Globalisation
variety goods are needed ;

| (C) A special Linear Programming Problem I (111) Bottleneck A

(D) Steep increase in the level off (iv) Maintenance

; competition among manufacturing firms | Request ¢

i throughout the world

i (E) Systematic ~ Quantitative  structural | (v) Job-Shop Process
' approach to the problem of managing a

| project through to successful completion -
| (F) This must be made in writing to a central | (vi) Network Analysis
! point in the organization P
(c) State whether the following statements are “True’ or ‘False’: 1x6=6
(i) Short-term forecasting is useful to serve the purpose of estimating the inventory
requirement. ;

(i) The life cycle of a product has many points of similarity with the human life cycle.
(iii) The Linear Programming problem has two basic parts: the objective function and the

constraint set. _
(iv) The most widely used index of productivity is to work out the output per machine-hour.

(v) PERT is designed for repetitive projects, whereas CPM is suitable for non-repetitive

projects. : S .
(vi) Wear and obsolescence are two main causes for replacement of machinery in every

aspect of life.
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